C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a 7 with the value of 700 or 7 hundreds?
A. 987 B. 4,751 C. 4,617 D. 847

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 85,394 B. 9,846 C. 38,675 D. 9,548

Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 49,715 B. 17,456 C. 847,529 D. 276,398

Which choice has a4 with the value of 40 or 4 tens?
A. 547 B. 34 C.724 D. 84

Which choice has a 7 with the value of 700 or 7 hundreds?
A.3721 B. 5,279 C.471 D. 176

Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 15,427 B. 82,753 C. 79,238 D. 45,237

Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 71,258 B. 68,745 C. 83,725 D. 623,854

Which choice has a4 with the value of 40 or 4 tens?
A.54 B. 846 C. 84 D. 14

Which choice has a 6 with the value of 600 or 6 hundreds?
A. 6,538 B. 6,723 C. 9,643 D. 261

Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 8,792 B. 89,276 C. 47,826 D. 86,742

Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 726,354 B. 975,421 C. 564,382 D. 169,572

Which choice has a 8 with the value of 80 or 8 tens?

Answers

10.
11.

12.

C
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A.84 B.18 C. 873 D. 978
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Answer Key

Solve each problem.

1) Which choice has a 7 with the value of 700 or 7 hundreds?
A. 987 B. 4,751 C. 4,617 D. 847

2) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 85,394 B. 9,846 C. 38,675 D. 9,548

3) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 49,715 B. 17,456 C. 847,529 D. 276,398

4) Which choice has a4 with the value of 40 or 4 tens?
A. 547 B. 34 C.724 D. 84

5) Which choice has a 7 with the value of 700 or 7 hundreds?
A.3721 B. 5,279 C.471 D. 176

6) Which choice has a 2 with the value of 2,000 or 2 thousands?
A. 15,427 B. 82,753 C. 79,238 D. 45,237

7) 'Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 71,258 B. 68,745 C. 83,725 D. 623,854

8) Which choice has a4 with the value of 40 or 4 tens?
A.54 B. 846 C. 84 D. 14

9) Which choice has a 6 with the value of 600 or 6 hundreds?
A. 6,538 B. 6,723 C. 9,643 D. 261

10) Which choice has a 8 with the value of 8,000 or 8 thousands?
A. 8,792 B. 89,276 C. 47,826 D. 86,742

11) Which choice has a 2 with the value of 20,000 or 2 ten thousands?
A. 726,354 B. 975,421 C. 564,382 D. 169,572

12) Which choice has a 8 with the value of 80 or 8 tens?
A. 84 B. 18 C. 873 D. 978

Answers
1. B
2. C
3 D
s A
5. A
6. B
7 C
s B
9. C
0. A
1. A
1. A
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